ME 224-STRENGTH OF MATERIALS
2" Midterm Exam

Duration: 100 min Date: 10.06.2025

1. A beam of T-section is supported and loaded as shown in the figure above. The cross section has
‘width b = 65 mm, height h = 75 mm, and thickness 1 = 13 mm. Determine the maximum tensile and
| compressive stresses in the beam. (Hint: Start by drawing the shear- bending moment diagrams.)

1 2. By using n-n section on the beam above, determine:

(a) maximum shearing stress (Tmax),

(b) shearing stress at point a in the cross-section given above. |
40 MPa

: 3. For the given state of stress, determine (a) the orientation

of the planes of maximum in-plane shearing stress, (b) the

maximum in-plane shearing stress, (¢) the corresponding

normal stress.
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